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Convert from degrees to radian.
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3.  Use the provided circle to draw the terminal side of the requested radian angle.
Also give the measure of two other coterminal angles.
a. 4 radian Two coterminal angles:
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b. -2.28 radian Two coterminal angles:

J

L0253




April 25, 2018

4, Draw each angel in standard position and state the value of the trig ratio for
the angle with terminal side ending at:
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2 _
sinb= - &

-5
cosf= T <
tan@ = ”fl- =-2
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Evaluate each.
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d. sir_lm= S
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f. tan(330°)
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h. tan(660°)= - f‘é 3 =
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h. tan(-270°)= § = u-~tdiat
6,
2. Determinswers for the angle 6 on the interval -2r<06<2rx.
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d.

sinf=-1




